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QUESTION 1

The BPM analyst is recommending the playback methodology to be followed during development. When the company
asks the analyst what is the basis for the playback methodology, how should the BPM analyst respond? 

A. Iterative development 

B. V-model development 

C. Waterfall development 

D. Cleanroom development 

Correct Answer: A 

 

QUESTION 2

The Human Resource (HR) Department wants to improve 4 of their processes using Business Process Management
Software (BPMS). 

The 4 processes are: 

1. 

Recruitment 

2. 

New Hire Orientation 

3. 

Benefits Enrollment 

4. 

Performance Evaluation. 

The Human Resource (HR) Department has a limited budget and is pressured from head office to provide value to the
business as soon as possible. 
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The BPM analyst worked with the HR team and completed the effort impact matrix for these 4 processes in order to
identify a suitable process candidate Based on the Exhibit, which process should the BPM analyst recommend? 

A. Recruitment 

B. New Hire Orientation 

C. Benefits Enrollment 

D. Performance Evaluation 

Correct Answer: B 

 

QUESTION 3

A BPM analyst is documenting process problems during a discovery session. As a problem is raised, what are the two
key factors the BPM analyst needs to capture about each problem to be able to prioritize them later? 

A. The solution to the problem. 

B. When the problem first occurred and how often it occurred in each milestone. 

C. Severity and frequency of the problem at the process, milestone, or activity level. 
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D. Who is the participant when the problem occurs and what other tasks does that participant complete. 

Correct Answer: C 

 

QUESTION 4

A BPM analyst has built the following process diagram during a process discovery workshop. 

Each activity noted above will have a separate Coach displayed in IBM Business Process Manager V8.0. How would
the BPM analyst adjust the diagram to capture this requirement while adhering to best practices for proper process
modeling granularity? 

A. Combine the Developer\\'s 3 activities into a sub-process. 

B. Add a separate swimlane for each activity in the Developer swimlane. 

C. Add a separate milestones for each activity in the Developer swimlane. 

D. Color each activity with a different color to indicate separate Coaches. 

Correct Answer: A 

 

QUESTION 5

A security company provides background checks on individuals as a service. Based on various criteria, a customer\\'s
request can have a different priority to receive a better level of service response time. Whether the background check
passes or fails should not impact the service level. Requests with a high priority need to be addressed within the same
business day, those with a medium priority can take up to 3 days to process, and those with a low priority must be
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responded to within 5 business days. The security company is currently updating the background check process and
wants to define some performance measurements to ensure customers are receiving the service level they are paying
for. How should the BPM analyst define the measurements to meet these requirements? 

A. Calculate the rate of background check passes per day per priority to determine the service level agreement. 

B. Count the number of background check failures for each priority and calculate the difference from the service level
agreement. 

C. Capture the times to start and complete the background check, calculate the duration and compare it to the service
level agreement by priority. 

D. Capture the times to start and complete the background check, calculate the service level agreement for each priority
and compare it to thetimes. 

Correct Answer: C 
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